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Im(formula = EVENT_WOBA_19 ~ 1 + as.numeric(ORDER_CT >= 2) + | T P
as.numeric(ORDER_CT >= 3) + HAND_MATCH + BAT_HOME_IND + WOBA_FINAL_BAT_19 +
WOBA_FINAL_PIT_19, data = df@) o 0.315
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Coefficients: = T
(Intercept) fas.numeric(ORDER_CT >= 2) s‘numcr'\c(DRDER,(T >= 3) HAND_MATCH
0.299509 0.013320 0.005357 0.016306
BAT_HOME_IND WOBA_FINAL_BAT_19 A NAC_PIT-19
0.009988 0.969370 0.962359
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Im(formula = EVENT_WOBA 1 + as.numeric(ORDER_CT >= 2) + < .
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Call:

Im(formula = EVENT_WOBA_19 ~ 1 + as.numeric(ORDER_CT >= 2) +
as.numeric(ORDER_CT 3) + HAND_MATCH + BAT_HOME_IND + WOBA_FINAL_BAT_19 +
WOBA_FINAL_PIT_19, data = df@)

Residuals: ~
Min 1Q Median 30 Max ¢
1.0089 -0.3351 -0.2762 ©.3995 1.8396
Coefficients: %
stimate Std. Error{ t valug v l/)

E
(Intercept) 0.299509 .010110 -29.
as.numeric(ORDER_CT >= 2) 0.013320 0.002481 5. M‘S)\M
as.numeric(ORDER_CT >= 3) 0.005357 0.002922 1. .
HAND_MATCH 0.016306 0.002206 -7.
BAT_HOME_IND 0.009988 0.002183 4. .77 Z]
WOBA_FINAL_BAT_19 0.969370 0.017123 S6. ¢ 2 C
.026573 36. .

WOBA_FINAL_PIT_19 0.962359
SigmE. codéss 9 %520 001 9%l G091

Residual standard error: 0.5053 on 214379 degrees of freedom
Multiple R-squared: 0.0222, Adjusted R-squared: ©.02218
F-statistic: 811.3 on 6 and 214379 DF, p-value .2e-16

Call:

Im(formula = EVENT_WOBA_19 ~ 1 + as.numeric(ORDER_CT >= 2) ¥
as.numeric(ORDER_CT >= 3) + BATTER_SEQ_NUM + HAND_MATCH +
BAT_HOME_IND + WOBA_FINAL_BAT_19 + WOBA_FINAL_PIT_19, /data =

Residuals:
Min 1Q Median 3Q Max
1.0133 -0.3348 -0.2761 0.3995 1.8391

Coefficients:

Estimate Std. Errof\t valu
3166112 .0113189 -2/77972
0015278 0.0050680 .301
0082619 0.0049974 .653 -
0016491 0.0004909 . : R
0168367 0.0022114 -7. . L
0099937 0.0021831 : oo
9990902 0.0192728 S
.9622731 0.0265726 36.2

(Intercept)

as .numeric(ORDER_CT
as .numeric(ORDER_CT
BATTER_SEQ_NUM
HAND_MATCH
BAT_HOME_IND
WOBA_FINAL_BAT_19
WOBA_FINAL_PIT_19
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Signif. codes: @ ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’

Residual standard error: 0.5053 on 214378 degrees of freedom
Multiple R-squared: 0.02225, Adjusted R-squared: 0.022
F-statistic: 697 on 7 and 214378 DF, p-value: < 2.2e-16
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